Algebra 2 Honors
Midterm Exam Review —
Know your parent functions! Be able to recognize the graph of each of t ction-

. fl.l
- jtqdled this semester and be able to identify the domain and range of E_#E i

P

Chapter1
In 1-2, let g(x) be the indicated transformation of flx). Write the rule for al

ion of up 3
1. fix) =-3x +7; horizontal compression by a factor of % followed by a translation © P

hix)= /(%){) = —5(—}‘1;{)*7-; -4x 17

(X)= A(X)+3 = oyt 7+3 = i
20 fix) =-3x + 7, vertical compression by a factor of r followed by a reflection 11 the y-
s _ 21
/L(X) = ‘,;f( x) = -5(-—3}{*7) = -;q-)( *’7;,-'
GX)= h(x) = -0 + 5 . 4.
In 3 - 4, use a table to perform each transformation of y = f{x) and graph each new function on the sa
coordinate plane.
Lﬂ_ . = . - _..._. . 2 Y-_ __,‘|.. ..[.... - 1
3. horizontal stretch by a factor of 3 =fol=2 i | [ .
0
|
| o
. ) é/L =2 K_ ’ﬁ X )
4. reflection across the x-axis, vertical strétch by a factor of 3 [

and horizontal translation 1 unit left

.-
=4
-

s ©
™~
o

l
In 5 - 7, identify the parent function for g i‘rom?ts function rule. Then describe what transformation é, ...?_
the parent function it represents. . S

5. glx)=y-2(x-5) J?zxﬁfc root |
reflectron 1 Yo horigentaf COmPreN 0n % foctom s s
S ALF f‘:j.&af b ] :

(ny/ézafxf‘clff?of— Lhid £

6. g(.r) =4x? -2
;__fu.ﬂ- o ,i’- ?::’ A bt ‘2'

b 5 =
venric e/ See et bj

7. glx)=—x-+2 JrE A

refrecho 1a x-exd, Phift  trin SZ
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Chapter 2 - .
x for h the Pmnl
In8-11, use the description to write a quadratic function in the spctll"cd 15555 throub
8. Write a quadratic function in vertex form that has its vertex at (-3, ymer
(4 -]) % )~ alx-h ! 'ff .,_5:_
ta apgaagtes O Ut gy W)
o 492 + =z lr/:r x ) * «F e g wntc

# (. cal€ k-
Tt 5 : 2ted 6 units down t0 €T
£ in vertex form,

{“}’(’."\}"’ -x -l /

2).
10. Write a quadratic function in standard form that fits the pumls (-L.8)(0,4), and (2, 2)

Alxy = ;\k‘l{)‘-'{\_-- 41 -) P — L+ b'— _Z
Gl~iAT Gl EdTAFE R =5 A—br¥? &
Bk Z) e ) H W 2 2 P lo ==

> 7 a o ¥ i =
11. Write a quadratic in vertex form with x-intercepts of -1 and 3 and a leading Coejii;;;; “ ’
Fovis ZEREVES)

o __
FIR I EZx =Yx —

= L I
Legys. 2ot ply wi) ~B=4

..-’ﬁ;;.;}: Zx=1)= - g

In 12 - 17, simplify completely. When necessary, write the result in the form a + bi.

B 8 13. (-1 +20) + (6-9) 14, (4+5D2+1) @ AL
7

Q - /,¢> g+ Sirr0er 5L

_ =
{;5_*'_'.)(&]’: 16. &+ =12 . l"3+w‘r_j I'“’—zf_- C;‘? “E
tz_fjfﬂ:’c) ; a @_'_‘J_) (‘?—I“?_)
. r 3 > « & - = Z \/__ ‘#r
!“:) =+ ?" + e f + [ 2 =2 A..ﬁ'.
rErE 3 "Q e :b_+ - . Hu\f’;}_
In 18 - 19, identify the vertex, axi f-symmetry, y-intercept, x-intercept(s), dlrccn{'r'n of opening, domaj /¥
and range for each function. Then, graph each function. 2 '
1
18. flx) = (x + 5)’ 19. p(x}=5x’+x+2 _/ 3
m" ('-'S- Q) G'Z(V"f = ') :--‘-
SO ; '
7"-.-""7:;'. ((_jj.éf) /Jaf Yzi=f
; = el
X...;,—-)'f‘ ‘ ( 5‘; o ) >/ 17 | /
i [=ee= opev WP 24’%{)
| Ds [owess Nor-rea,
/& : L'(J;:@) i [‘:',"J =D ) *’_0-"..;1‘-,%
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In 20 - 23, find the ol
Ieroy g
e Or rooty of each funey of the l'ullmilllt
. F Fectorin o0 or equation using any
| S: C 4 S: Solving by Squlﬂ' ftoots
’ Each method " ~ASpleting the Square UI Uundr;lic Formula lan P'ﬂdd
. od Must be ' a
¢ used onge sed in the
Remember to yhow work to ‘Mipport sr.l,“' Indicate which mcthod you ¥
Mour answer, _— i :
20. fix) = 32 - 19 /[ i casind
fix) Ir “1Te+ 1 ¥ |- y | R ’ —
\Iﬂh:; ] . F './: 1 ‘
weed e , 7 ¥ 12 ; / ;J
s 1 | e - ! "L'F— 1
B -
- ’
—
21, 30x - 48 = g2 r ~ ., - t O N
Method : P o -0 45 Fiaa
1] o F g
x 3 %2 O 4 :
22 3¢+ 420 k s
. A erhoasd 2 .
; e X d — Y
. " p <1 )‘ p—
21 ]13.:‘?..-_‘.1_ “_.-"'__' o i & - e "'{J - -"] z et
g & - - i =5
i i - 'J .__? —
A wred : -~ J g
o+ F ) e p— -
| o . =fiFt
. $ - e _'_.——_:_-
i -t g
24 Solve alpehrmcally: 1 - 141 + &5« -3 =
r - = 4
&= f y ‘ - _--_-_d r—l.—’
o e s —— it
'. - ¥ t
- 'y

R ut 3 2 . -
15 Without solving, determine the sumber and type of solutions for r° - d¢ = 8

- Fo o L,:_.'Lf'--' #3 i T
» - oy . < & -
4 - =3P
> tac,
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ble
4 . as pﬂsSl ‘ |
26. W hile playing catch with his grandson yesterday, Tim threw a ball 2% haﬂ.;i;oﬂ S |
height  in feet of the ball is given by A(r) =-167 + 64 + § where {1817 "
Find the following: v
oy el Z) ¢

(2) the maximum height of the ball kA2 ) = =) e

v

)

T et
=

Grrt ﬂ
(b) the time it took to achieve this height —¢ =Lt o - /?.»

= = R B )]
L = i fﬁctl
. 2 P
(c) the time it took for the ball to reach the grandson’s glove if he caughtitatad h gh’ M

(Round answer to the nearest hundredth.)

Jo b+ &= g //Zf
— /r___i_‘-—_'-T- = -
Lol TR ADE) g ef e 570 _ed 2L
. BT

d she travels in

c.""-"'{

D

K

Y

2 (=il

G o g , istance
27. A bicyelist is riding at a speed of 20mi/h when she starts down a long hrll- 'I?he dlsmgs
feet can be modeled by the function d(t) = 5t* + 20t, where t is the time 11 sec;llnthe- i iy
(a) The hill is 585 ft long. To the nearest second, how long will it take her to reac

52__242,0&*:5.?5‘ Z:f.-f-{-fm
{ e 1T —

- = &7
GL*rz08 -58°5 Scis

L4t — 117 =09 (—3
’--L{-ﬁ/g}? J‘éCﬂﬂa“"_f
¢ EF I3 AR 1 =0 £ -z “

(b) Suppose the hill were only half as long. To the nearest second, how long will it take her to reach the

bottom? 5"‘6'2&20&: 2(_-? 2.§

5¢%+ 20£—-292.5=0 £= -9 T [/e-4(T)(-5¢.5)
L2y 4t 58570 s

£= -4 ¥ Jjzso = . g1

K Lot orola
Chapter3 | | SRR
In 28 - 31, factor completely: @ (X +2)(%-2) (x-1)
28. 8}’3—4_1?2! 50},+25 30254;2.}:3—?+8x j
4‘1(2‘)’")"1’-’/—4"2_'“} ;Zx(.& - }_»{x-.“f)
F y+5wﬁi>f"5>__£f)"’ ¥ = eyt (= )
Cﬂ'z’é’.—ﬁnhsnf‘ 2% O -4 LR )

1. 57 -1

3
-,
22220 : :
"'/f ( m”*ﬂ Cj‘g i)(J"tL)'m%
@Lﬁm - [(}-muwu)cr+f)(.r=--“,)J.-
sy |
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